SLR 1.2 Memory and storage | Units and number systems

End-of-topic test

	Name:
	



1. State the capacity in gigabytes of a 2TB portable hard drive.				[1]
	



2. State the denary number 24 in binary. Show your answer in 8 bits.			[2]
	



3. Show how the addition of the denary numbers 30 and 20 is performed in binary.		[4]
	







4. Explain how an overflow occurs when adding two 8-bit binary numbers.			[2]
	






5. Show the result of a 1-bit binary left shift on the number 00101100.			[1]
	



6. Convert the denary number 128 to hexadecimal. Show your working.			[2]
	


 





7. Convert the hexadecimal number 7E to denary. Show your working.			[3]
	







8. Show the result of a 2-bit binary right shift on the number 00110100.			[1]
	



9. Convert the binary number 11111101 into hexadecimal and provide its denary equivalent. Show your working.									[3]
	










10. Braille characters are represented using six dots arranged in a rectangle. Each dot position either contains a raised dot or does not – this is an example of a 6-bit character set. State how many characters can be stored in this character set.				[1]
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